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a=[]
3.times { [j|
a[jl=10
3.times { [i|
if i ==j then
a[jlril=1
else
a[jlril=o0
end
}
}
pa

a=[]
3.times { [j|
alj1=10
3.times { [i|
ifi==(2-j)then
a[jlil=1
else
a[jlil=0
end
}
}
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a=l a=l a=[
count=1; count=1;
3.times { [j 3-ﬁmes(|[i|.] 0 [1,2,3],
. aljl=
alil=0 3.times { [ [4.5.6],
3.times { [i| if i+ 1= 2 then [7.8,9],
ifi == 1 then alj][i]=count [10,11,12]
a[jl[i]=count else o
olse alj[i1=0 ] -
o end a[0].length.times { |j|
a[jllil1=0 count +=1 . R
end } a.length.times { |i|
count += 1 ’ print(ali1j1,"")
} pa }
) print( "¥n" )
pa
}
S | = £ 3 =] == =
RERED (FEEDER) REMHEDFEDE)
c=1
a=| a.length.times{ |i| a=| Z): []| ety can
clil=0 ..alength-1).each{ |i
[1.23], a[ i ].length.times{ [j| 1.2.3], elil=0
(4.5.6], clillil=alilljl+blilljl; [456], (0..2lil.length-1).each{ [k|
[7,8,9] } [7.8,9] sum =0 .
1 } 1 (0..b.length-1).each{ [j|
sum+=ali][j]*b[jl[k]
d=1] }
b=[ a.length.times{ |i| b=[ e[i][k]=sum
9.8,7] dir=p 9,8.7] }
B a[ i J.length.times{ [jj ,6,71, }
(6.54], dlilil=alillil-blillj] (6,54], print( " e -—->¥n" )
[3,2,1] } [3,2,1] (0..e.length-1).each{ |i|
} (0..e[il.length-1).each{ |j|
! print( " ¢ --->¥n") ] print(e[i][j1,"")
pc }
print( "¥n d --> ¥n" ) print( "¥n" )
pd
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count=0
sentence =[]
open("HumptyDumpty.txt") { |f|
while line = f.gets do
sentencel count ] = line
count +=1
end

Z:¥Ruby>ruby sample.rb

(count-1).downto(0X [il Couldn't put Humpty together again.
puts( sentence[i]) All the king's horses and all the king's men
Humpty Dumpty had a great fall.
Humpty Dumpty sat on a wall.
]




